
Aire et Périmètre de Triangles (F)
Trouvez l’aire et le périmètre de chaque triangle.
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Aire et Périmètre de Triangles (F) Solutions
Trouvez l’aire et le périmètre de chaque triangle.

0

aaaaaa
aaaaaa

aaaaaa
aaaaaa

aaaaa���������

2.1 mm 4.7 mm
h = 1.8 mm

5.4 mm
A = 4.86 mm2

P = 12.2 mm

"""""""""""""""""""""""""""""""""

9.4 cm 4.7 cm

h = 4.7 cm

8.5 cm
A = 19.975 cm2

P = 22.6 cm

HHHHH
HHHHH

HHHHH
HHHHH

HHHHH
HHHHH

HHH�������������

3.9 po 9.3 po

h = 3.9 po

8.9 po
A = 17.355 po2

P = 22.1 po

JJJ
JJJ
JJJ
JJJ
JJJ
JJJ
JJJ
JJJ
JJJ
JJJ
JJJ���������������������������������

2.2 pi 2.6 pi

h = 2.2 pi

1.8 pi
A = 1.98 pi2

P = 6.6 pi

AAA
AAA
AAA
AAA
AAA
AAA
AAA
AAA
AAA
AAA
AAA���������������������������������

4.4 pi 4.7 pi

h = 4.2 pi

3.5 pi
A = 7.35 pi2

P = 12.6 pi

%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%

7.0 mm 5.2 mm

h = 5.2 mm

5 mm
A = 13.0 mm2

P = 17.2 mm

MathsLibres.com


